Whitman College

Econ 448

Exam 1

March 5, 2008

Write all answers in your blue book.  Show all of your work.  The exam ends at 2:25.

1. (a)  (3pts)  The essential features of the operation of an international gold standard can be characterized in terms of three basic rules of the game.  What are these three rules?

(b)  (5pts)  What are the advantages of operating under an international gold standard?

(c)  (5pts)  What are the disadvantages of operating under an international gold standard?

(d)  (2pts)  Consider the international gold standard regime that began in the 1880’s.  Why did it break down?

2.  In International Macroeconomics, Feenstra and Taylor note that in the 1970’s West Germany and the United Kingdom had capital controls that prevented people from freely moving savings between pound deposits and mark deposits.  The U.K abolished their controls in 1979 and West Germany abolished theirs in 1981.  Feenstra and Taylor show that covered interest parity held between the U.K. and West Germany after 1981, but not in the decade before. 

(a)  (5pts)  Derive the formula for covered interest parity.

(b)  (10pts)  Explain why covered interest parity did not hold while the capital controls were in place, and why covered interest parity did hold once the capital controls fell.

3. Use the information below to answer parts (a) and (b). Assume that the quantity theory of money holds. Suppose that over the next ten years, the U.S. on average lets its money supply grow at a rate of 6.2% per year, and New Zealand lets its money supply grow at a rate of 5.3% per year.  Suppose potential real Gross Domestic Product grows annually at 2.7% in the U.S. and 1.3% in New Zealand. 

(a)  (10pts)  Forecast the average annual inflation rate in each country over the next ten years.

(b)  (10pts) The spot exchange rate between the United States dollar and the New Zealand dollar is currently 0.8064 U.S. dollars per New Zealand dollar.  Assume purchasing power parity holds, and describe what would happen to the exchange rate over the next ten years.

Use the following information to answer Questions 4-6 below.  Assume that in the short run, prices on average are not flexible, interest rates are flexible, and uncovered interest parity holds.  Assume that in the long run, prices are flexible and the quantity theory of money and purchasing power parity hold.  Answer the questions about South Korea and Japan, assuming that both countries operate under a flexible exchange rate system.  Take the perspective of Korea as the home country, and define the exchange rate as Korean won per Japanese yen.  For simplicity, assume that neither Korea and nor Japan has growth in real potential Gross Domestic Product.

4.  (10pts) Suppose the Bank of Korea temporarily decreases its money supply.  Everyone believes that the decrease will be temporary, with no change in Korea’s overall monetary policy.  Starting with your initial equilibrium labeled point A, show on money market and foreign exchange market diagrams the short-run effects (labeled point B) and the long-run effects (labeled point C).  Be sure to label your axes and all of your curves.  Explain what happens.

5.  (10pts) Suppose the Bank of Japan temporarily increases its money supply.  Everyone believes that the increase will be temporary, with no change in Japan’s overall monetary policy. Maintaining your perspective of Korea as the home country, use a money market and foreign exchange market diagram to show the initial equilibrium (labeled point A), the short-run effects (labeled point B) and the long-run effects (labeled point C). Explain what happens. 

6.    (15pts)  Suppose the Bank of Korea permanently decreases its money supply.  Everyone believes that the decrease will be permanent. Maintaining your perspective of Korea as the home country, use a money market and foreign exchange market diagram to show the initial equilibrium (labeled point A), the short-run effects (labeled point B) and the long-run effects (labeled point C). Explain what happens.

7.  (15pts)  Assume people are risk neutral.  Define the trilemma and explain why it holds.

